5.2 It Blocks

If Block
Elself Clause




If Block
=

The program will take a course of action

based on whether a condition is true.

If condition Then
actionl
Else

End If




Another example If block
R
If condition Then
actionl
End If
Statement2
Statement3




Pseudocode and Flowchart for an If

Block
B

Is the
condition
true?

Yes

If condition isg true Then

Processing step(s) 1
Elge Execute Execute

Processing step(s) 2 processing step(s) 2 processing step(s) 1
End If




Example 1: Form
S

Firzt number; txtFirstNum

Second number; txtSecondNum

Find Larger Mumber

txtResult




Example 1: Code

Private Sub btnFindLarger Click(...) _
Handles btnFindLarger.Click
Dim numl, num2, largerNum As Double
numl = CDbl (txtFirstNum.Text)
num2 = CDbl (txtSecondNum.Text)
If numl > num2 Then
largerNum = numl
Else
largerNum = num2
End If
txtResult.Text = & largerNum
End Sub



Example 1: Output
A

(7= Maximum |:||E||X|

First number;
‘Second number;

I Find I_.arg_e;NumI:ue; ]

| The larger number iz 7 |




Example 2: Form

‘ Show Financial Status ‘




Example 2: Partial Code

If costs = revenue Then
txtResult.Text =
Else

If costs < revenue Then
profit = revenue - costs
txtResult.Text = &

FormatCurrency?Profit)

Else
loss = costs - revenue
txtResult.Text = &
FormatCurrency (loss)
End If

End If



Example 2: Output
o

™ profit/lLoss |:||E”E|

Cogts: | 3200

Fevenue; | BU0L0

‘ Show Financial Status

Loz= 1= $1.500.00




Example 3: Form
i

How marny gallons does a
ten-gallon hat hold*? ‘

txtAnswer

E valuate Answer

txtSolution




Example 3: Code
o=

Private Sub btnEvaluate Click(...) _
Handles btnEvaluate.Click
Dim answer As Double
answer = CDbl (txtAnswer.Text)
If (answer >= 0.5) And (answer <= 1) Then
txtSolution.Text =
Else
txtSolution.Text
End If
txtSolution.Text &=
&

End Sub

Chapter 5 - VB 2005 by Schneider



Example 3: Output
i

Howe mary gallonz doesz a
ten-gallon hat hold?

Evaluate Answer

Mo, it holdz about 344 of a gallon.




Example 4: Form
i

il Quotation E| |E| E|

O wow kniow what the game of skittles 1= AN ]? mtxtAnswer

Chzplay Cuotation

txtQuote




Example 4

Private Sub btnDisplay Click(...)

Handles btnDisplay.Click
Dim message As String

message =
&
&

If txtAnswer.Text.ToUpper = Then
MsgBox (message, O, )

End If

txtQuote.Text =
txtQuote.Text &=
End Sub



Example 4: Output

o Quotation

Do wou know what the game of skittles iz /MY

Dizplay Cluatation

Skittles is an old Form of bowling in which a wooden disk is used to knock down nine pins arranged in a square,

‘ K, J

[Click OK]



Example 4: Output continued
nim

s Quotation

Lo pou know what the game of skittles = AN

Chzplay Cuotation

Life ain't all beer and skittles. - Du Mauner [158594]




Elself clause
B

If conditionl Then
actionl

Elself condition2 Then
action2

ElselIf condition3 Then
action3

Else
action4

End If



Example 5: Form
N

Firzt number; txtFirstNum

Second number; txtSecondNum

Find Larger Mumber

txtResult




Example 5: Code

Private Sub btnFindLarger Click(...) _
Handles btnFindLarger.Click
Dim numl, num2 As Double
numl = CDbl (txtFirstNum.Text)
num2 = CDbl (txtSecondNum.Text)
If (numl > num2) Then
txtResult.Text = & numl
ElseIf (num2 > numl)
txtResult.Text = & num2
Else
txtResult.Text =
End If
End Sub



Example 6: Form
B

& FICA Taxes

Tatal earmings for thiz ydar—ﬁrﬁer—ke—l-he—:l

current pay peniod:

E arnings for the current pay peniod: |:|

Calculate FICA T axes J

FICA taxes for the
curf®Ar pay penod: I:I




Example 6: Partial Code

Function CalculateFICA(ByVal ytdEarnings As Double,
ByVal curEarnings As Double) As Double

Dim socialSecurityBenTax, medicareTax As Double

If (ytdEarnings + curEarnings) <= 90000 Then
socialSecurityBenTax = 0.062 * curEarnings

ElseIf ytdEarnings < 90000 Then
socialSecurityBenTax = 0.062 * (90000 - ytdEarnings)

End If

medicareTax = 0.0145 * curEarnings

Return socialSecurityBenTax + medicareTax

End Function



Example 6: Output
B

& FICA Taxes

Total eamings for this ye
current pay peniod:

E arnings for the current pay pernod: | 54321
Calculate FICA Taxes i

FICA taxes faor the
curr®pay penod, $41.56




Comments

When one If block is contained inside another If

block, the structure 1s referred to as nested If
blocks.

Care should be taken to make If blocks easy to
understand.



Simplified Nested If Statement

T
If condl Then If condl And cond2 Then
If cond2 Then action
action End If
End If

End If




